OBTOpeHue
NPOUAEHHOrro



BbINOJIHUMb 8038e0€eHuUe 8 Kkeadgpam
deyuyJsieHa

(x—4)’= x? —8x + 16
(2x + 3)2=4x"+ 12x +9

(4x + 0,5)? =16x?+ 4x + 0,25

Bcmaeumb nponyweHHoe YUucio:
10x=2- x5
2X=2 X" 1

X=2X- 0,5

—3X = —2 ¢ .1’5 (a+b)2— a +2ab+b2

(a=b) = ¢* =2ab+1*



TTpeactasuTth 8 BUAE KBAApATA OAHOMUNEHA:

4a* = (2a)2 0,25x%y° = (O,Sxy3 )2
9x* = (3x) 0,640 = (0,8a°f
25¢° =(5c)2 0,01a"c’ =(O,1a20)2
0,04x* =(0,2x |

1 (1)

—a‘b’ =| Zab
9 3




3anosIHUmb rnnycmabie Kjiiemku:
1) x*>-6x+ 9] =(x—-|3])?;

2) x* +2- [5] "x*[25] =(Xx+3)*;

3) dx*+8x+ 7] =([2x] *[2] )*>

4) 9x*=24x + [16] = (3x] ~[4] )° -

(a+b) = a* +2ab+b* (a=b) = ¢* ~2ab+b’



203° =




CamocmosamenvHasA
paooma



!bmenel-lme NOJTHOTO

KBaapara



BorpeneHue nonHoro keaapara

Ipumep 1
X +2x+5=

=P+ 2x1+1)—1 +5=
=(x+1)P°+4
Ipumep 2

92 —12x+2=
=((3x)° —=2:3x2+4)— 4+2=
=(3x-2)"-2

PELLAEM Ne 367(r,a,e); Ne 368(r,a,e)



BorpeneHue nonHoro keaapara

IIpumep 3
X’ +9=

=(x’+2x3+9) - 6x=
=(x+3)° - 6x
Ipumep 4

9a° + 16 =
=((3a)’ —2-:3a4 + 16) + 24a =
= (3a—4)° + 24a

PELLAEM Ne 370(r -)



3ajaHve Ha AOM
*Ne 367(a,0,B)
*Ne 368(a,0,B)
*Ne 370(a,0,B)



